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o 12,009,518
2 6,000
= 13,526,491
OFHE AWML Y (A - BAIY/MLES - DEF) 18,385,032 15,175,811 3,209,221
= 13,800
o 12,009,518
< 6,361,714
S2UHYA 23 275,500 272,400 3,100
oAl - M - 2Eol 223t 10,000 40,200 ~30,200
307 QI2HOIA 10,000 15,000 A5,000
04 QIZHSALE X 10,000 15,000 A5,000
OZ RO 23t 10,000
NABMLEN 585 3 265,500 232,200 33,300
201 LEFRHH 11,000 15,000 4,000
01 ArR22lH 11,000 15,000 4,000
OXNGBREH S 2RMA =2 11,000
202 ol 121,100 134,200 13,100
01 ZLH0HI 35,100 42,200 A7,100
OXNAB RS 2ARAYD FX 35,100
03 =220t 70,000 74,000 24,000
OKAATL A AL =X 70,000
04 =RI3t0iHl 16,000 18,000 A2,000
OMAAR S2Y3| 16,000
203 YRFEXH| 83,000 83,000 0
03 AIHZERARFXY 83,000 83,000 0
OMBIZAN L EHZXASH5 =8 60,000
OMNRIZRIEHS AIEX 20,000
OXEANZEHE L ACASIHEE =T 3,000
204 MR AH| 50,400 0 50,400
03 SHLYRAY 50,400 0 50,400
O s 50,0009 *84 % 128 50,400
HEANT AW 13,026,814 8,900,493 4,126,321
2 11,190,000
7 [ 1,836,814
HEAH ALBHE N (=21) 12,399,314 8,391,693 4,007,621
o 11,190,000
[ 1,209,314
403 XHXIEHHI S XH=20l & 12,399,314 8,391,693 4,007,621
o 11,190,000
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01 RXSHMA2E = 12,399,314 8,391,693 4,007,621
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& 11,190,000
L= 909,314
ONMESTHHAIE LEDAHS 300,000
HSAE otde| X 429,600 389,600 40,000
308 XX HHSO0IA 429,600 389,600 40,000
01 AXNSMBLNEEXS 429,600 389,600 40,000
ONdSANE SITHEH It 20,000
OFSANE HERA HHX 409,600
HSANE 45 F4 12,000 70,000 58,000
308 MHXIHHMSOIA 12,000 20,000 28,000
01 MHXSHBAEXZ 12,000 20,000 28,000
OFSANE 2t 2 12,000
HSAFLQ A2t 50,000 10,000 40,000
301 LEtE A= 50,000 10,000 40,000
10 ALAHIE &= 50,000 10,000 40,000
O&SANE &3 A 24 10,000
OHSAE ol mUHH= 40,000
SEd3ANE 54 XN& 129,000 31,200 97,800
201 LetH| 50,000 0 50,000
01 AtER22/Hl 50,000 0 50,000
OHSAE S&Hel 82 50,000
202 O4Hl 5,000 0 5,000
01 = WOl 5,000 0 5,000
OFSAE S&)el =48 F&A 5,000
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ONSANY HEAS WY 24,000
403 XXM SA201H 50,000 0 50,000
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202 (4Hl 5,900 7,000 21,100
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01 =W 5,900 7,000 A 1,100
osoterdg el ¥ AHINEH =4 5,900
L2430 AHA 4,953,818 5,847,518 A 893,700
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& 4,134,300
AaE FFELIIMY A 23,300 44,000 220,700
202 O 3,300 4,000 AT700
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ORADIOIAH Z2ME 320,000
oOxEHAEH X 60,000
ONSSAYEH N=pt 50,000

308 XHXI GRS Ol & 90,000 0 90,000

01 RMXSHBASES 90,000 0 90,000
OFBAYAHSI| 2R H 90,000

MR- ARE FEAR 474,600 451,000 23,600
=2 70,000
= 404,600

A2 AFEHE R 2 132,000 132,000 0

308 XHXISHHI SO 132,000 132,000 0

0 HXESHALSES 132,000 132,000 0
O A BOISHSHE X2 32,000
OANZ LSaEA 29 N 100,000

22X A U =2XNET A EE 202,600 179,000 23,600

202 01l 6,600 8,000 A1,400

01 =UH01 ] 6,600 8,000 A1,400
OLABE B 4R E=X 6,600

307 212+0| & 196,000 111,000 85,000

10 Alsl= X2 E 196,000 0 196,000
CERBCH HA X 82,000
O22Re| < A X 14,000
OLSaEA 29 X 50,000
OHZE - AIRS 2UeIS 50,000

Rel AR e 2a5 A FF(2D) 140,000 140,000 0
= 70,000
= 70,000

307 212H0I 140,000 140,000 0
=2 70,000
= 70,000

NIEEEEES 140,000 0 140,000
OXNY AN B HHS = 140,000
=2 70,000
= 70,000

ANzl HE(AS2X/=E) 13,353,750 1,751,520 11,602,230
= 7,903,000
2 6,000
= 5,444,750

Aol 619,200 1,404,520 785,320
2 6,000
= 613,200

2222 2UHY =1(2D) 12,000 12,000 0
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= 6,000
& 6,000
101 Q14| 12,000 12,000 0
= 6,000
& 6,000
04 JIZtMZ22XSE+ 12,000 12,000 0
o322 2UH 12,000
= 6,000
& 6,000
SS2ZAE A& 300,000 300,000 0
308 AXIHMSOIA 300,000 300,000 0
01 AXIEMBAE 300,000 300,000 0
O33Z=Z A Y 300,000
33712 Qe 307,200 0 307,200
101 eIl 307,200 0 307,200
04 JIHMIZ 2 XS 307,200 0 307,200
O33J|&ele 307,200
HI=& 12,734,550 347,000 12,387,550
= 7,903,000
= 4,831,550
T HYESIAMG F& 1,530,800 89,000 1,441,800
101 eIl 17,000 0 17,000
04 JIZtHIZ22HsSE+ 17,000 0 17,000
O% Xtel X H 17,000
201 LBt 129,000 14,000 115,000
01 AtSR2t2ldl 129,000 14,000 115,000
OASI &Y & 10,000
OFILLEH 115,000
OHUE HX #Al 2 4,000
202 O4H| 19,800 5,000 14,800
01 =LA bI 19,800 5,000 14,800
OF AKX AL 19,800
307 212t01& 140,000 70,000 70,000
02 BItBAEX 140,000 70,000 70,000
OASIEIIE & 40,000
oY E= 2l 100,000
402 2I2HX=01 1,225,000 0 1,225,000
01 It =22 X 1,225,000 0 1,225,000
OFUHAYIZNME 1,225,000
AN HHESIA X 1,672,600 258,000 1,414,600
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308 XHXIEHH SO0 1,572,600 168,000 1,404,600
01 NXSHBALES 1,572,600 168,000 1,404,600
OMHIABIRIIY 84 432,000
OEAJIYHHAEH S 302,400
OAZ LRRNAHE 22 N 95,200
OEDYN JIYH FHLX 96,000
oNYH NAZEM 4 570,000
Ot ABIHE 2S5 X 77,000
403 RXISHSKHZO0|H 100,000 90,000 10,000
01 XXSHX=2E 100,000 90,000 10,000
OMEIEIIY 4 100,000
MBI EDIY S4(2D) 3,119,550 0 3,119,550
2 2,971,000
< 148,550
308 XHXIEHH SO0 3,119,550 0 3,119,550
2 2,971,000
< 148,550
01 NXSHALLES 3,119,550 0 3,119,550
OAHEI | 1,061,550
=2 1,011,000
= 50,550
OYLNRIZE AL 2,058,000
=2 1,960,000
= 98,000
NS ZSH L K2l ALY 6,411,600 0 6,411,600
2 4,932,000
= 1,479,600
201 Y2 | 10,000 0 10,000
=2 5,000
< 5,000
01 AtR22lt| 10,000 0 10,000
ONABSHAK2ZIAY FT 10,000
2 5,000
= 5,000
202 01| 10,000 0 10,000
2 5,000
= 5,000
01 =W oIt 10,000 0 10,000
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< 5,000
308 XHXIEHHSO0I 6,391,600 0 6,391,600
2 4,922,000
= 1,469,600
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01 AXSHINESE2 6,391,600 0 6,391,600
OXNAZSHLXICIAIY =& 6,391,600
= 4,922,000
[= 1,469,600
HMSAAH (NI ) (IIEHDIE 366,227 401, 147 234,920
29| 249,622 349,228 99,606
22 oIAH| X 249,622 349,228 A99,606
101 Q14 45,982 45,448 534
02 JIEtRIE % 45,982 45,448 534
AHNIESHIAS 2 (CI3) 45,982
o= 3,073,000 x1H « 128 36,876
OPIEE=] 960
N 40,0002 «1H x12& 480
—RUIJE 20,000« » 122 480
OA2A2 224G 7,140 %35A 2tx 1 128 2,999
O™ IS A 3,073,000 *1/30% 12 %11 1,127
OFHZAH| 130,000 x1H x 12& 1,560
OXZ 2 XH| 155,000 x1H « 122 1,860
Ojel & =H| 50,0002 «12 122 600
204 E 23 AHH| 203,640 280,380 AT76,740
02 XZE2XH 203,640 201,780 1,860
032 500,000 1« 12& 6,000
04z 400,0009 x6% » 122 28,800
053 250,000 202 128 60,000
o062 155,000 272 128 50,220
o072 140,000 20 122 33,600
08~92 105,000 17«12 21,420
OXAZNE g 300,000 1« 12& 3,600
| =22H| 116,605 51,919 64,686
PA2Y9 J|=2A 116,605 51,919 64,686
201 LEt2HH| 41,125 39,399 1,726
01 AFRZt2lH] 39,695 37,599 2,096
ORMNESYE ARl 39,695
02 222%H| 1,430 1,800 A370
ORAN2YE s52gH| 1,430
202 OiH] 12,480 11,520 960
01 2oy 12,480 11,520 960
oORMEd 2oyl 12,480
203 Y= 26,400 0 26,400
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01 JIZeYAREAY| 6,000 0 6,000
0=3 6,000,002 6,000

04 BASIAREAY| 20,400 0 20,400
©159! 0]} 25000021 x47} D+122 12,000
©309! 0]} 3500002 x20} D+122 8,400

204 HPLAY| 36,600 0 36,600

NIEEEEEE N 36,600 0 36,600
0= 600,0002 122 7,200
OB 350,0002 x6% * 122 25,200
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